EARAROBEEIERT — 2 N— IBISH —F 20165F2H20H (+) 22m{AE1H

m C2—24% C2 ¥5%4m L ‘ [x1g] 2 ‘ [BERE] — |4 (A) 14000 R
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o R =32 132, —6-5- . — THERE (E8)
i 6| N NFERF 4> it 6 ne 1(3_)8 6-6-5-3 | 39.1 3 ig? (IE])LJPNEEH
LZNAF 21— BEHLRT /NI WE e
TS 4 6 | WO 1:32.9 2-2-2-1 [39.9| — 1 442 | ABM®RYE (£8)
7] 3 KIREZACEa 56.0 (3/4) () | @ PN
RTHFAFUSv— B ILN—E—F ZE—KIT7—L4
. - =X THA -33. 34~ 3 - WFEY (EE)
sBl o | Y/ TIAR SR o 1(34{0’)7 Foas 03 ! (4::) AR -
LERYIFRNYT—/ B EY TSR FEH ®UF
> . 4 5 | HFHE 1:33.8 4-4-3-4 | 40.4| — 2 474 | EH—K (£H)
45|57/ %aH> 54.0 (1/2) 4e) | D) 73—
R:TLEFFEaT BFIAbI—> thiE EBL

R N # o4 | HREIK 1:33.9 55-6-6 |40.1| — | 6 | 452 |H#BF (&%)
] g| A ¥avavr> 54.0 (1/2) () |REE

RiAAyaf—5— BixA39IAXL BEL e
6l7|7|*T>avr/nF # 5 | DR I --12 [412] — | 7 ‘2:)? E;ﬁﬁ (%)
R:FaTLEN B LIANI—Y YIRS
71111 /\‘U/(U_ ‘ i o7 %gﬁoﬂﬁ 1:(365>.3 7-7-7-7 | 40.9| — 5 z:(s)gs E(%I;%BJZP%;?‘:%H
L:T7ANWRTy a2 BiN—FT13I2 b ZRET7— L
@ 11— F—EBIRML
1 Z=7r= 7,3,2,5,4,6,1
A== 7,3,2,5,4,6,1
ga=7r= 7,3,5,2,6,4,1
41 —F— 3,7,6,5,2,4,1
[ F/N=5
B OB 6 3704 74K 3-6 1704 B & 3-6 400 &R 2-3-6 850M
7B 6 220 2-6 370MH BHE 6-3 840M JEH 6-3-2 3,450
3 140M 2-3 290

ABICOVWTRDTEEERROODE. TR LIV,




